Mathematics
Representing two-step word problems using
bar models
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64 children in the playground. 31 children arrive. Then 42 children leave.
How many children are there now?

There were 34 people on the top deck of the bus, 13 people on the bottom
deck of the bus. Then, 21 people left the bus. How many people were left on
the bus?

There were 34 people on the top deck of the bus and 21 people on the
bottom deck of the bus. Then, 13 people left the bus. How many people
were left on the bus?

There were 26 children at lunch. 12 more children come to lunch. Then, 13
people left the lunch hall. How many children were left at lunch?



